NET-ACCESS S-Type Network Cabinets
n “ I T (Vertical Blanking Panel - STVBPNE)

© Panduit Corp. 2016 INSTALLATION INSTRUCTIONS V00029PH
Vertical Blanking Panels (Upper Panel Installation) NOTES
+ Install Flap Seals on top edges of Upper Blanking Panels * SQme views in this document' may vary
« Install Left-side and Right-side Upper Blanking Panels to the slightly from your actual cabinet configu-
backside of the front adjustable Equipment Rails. ration.

» Rear equipment rails have been removed
from some views to add clarity

Upper Blanking Panel - LEFT / i

Install Flap Seals on Upper Blanking Panels

3

Q o
Py

1 {[21 M5 Torx
| |Screws
| (T25 Torx bit)

Upper Blanking Panel - RIGHT

Tool List:
-T25 Torx bit
-Utility Knife

For Technical Support: www.panduit.com/resources/install_maintain.asp
Page 1 of 7




© Panduit Corp. 2016 INSTALLATION INSTRUCTIONS V00029PH

Vertical Blanking Panels (Lower Panel Installation)

* Install Left-side and Right-side Lower Blanking Panels
» Ensure that Lower Panels overlap Upper Panels

Lower Blanking Panel - LEFT

1l = [10] MS Torx
s Screws
:’ / (T25 Torx bit)

ﬂ5[/’ﬂﬂﬂﬂ0ﬂﬂﬁﬂ[/’[/’g[/’Dl?\ﬂﬂﬂﬂx]ﬂﬁ\ﬂﬂﬂﬂ‘gﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂgﬂﬂ\\ X

Lower Blanking Panel - RIGHT

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 2 of 7



© Panduit Corp. 2016 INSTALLATION INSTRUCTIONS V00029PH

Horizontal Blanking Panels (Flap Seal and Screw Installation)

» Install [2] Flap Seal sections onto edges of Top and Bottom Horizontal Blanking Panels
* Insert [3] M5 Torx Screws into each Horizontal Blanking Panel

Top Horizontal
Blanking Panel

Flap Seal

Bottom Horizontal Flap Seal

[3] M5 Torx Screws .
(use T25 Torx bit) Blanking Panel

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 3 of 7



© Panduit Corp. 2016 INSTALLATION INSTRUCTIONS V00029PH

Vertical Blanking Panels (7op Seals)

* Align front face of Horizontal Blanking Panel with Equipment Rails and install to the top front to back beams
using [2] M5 torx screws.

* Attach D-shaped Rubber Seal to Horizontal Blanking Panel

Ensure that Flap Seals are positioned tight against top of cabinet.

e ©
e © m
_©
? @
[od
O
o
e —
o b N u R
O —
= = —
® 8 i o
= O
=
@ 0 ﬁ E @
=
® ) \ ®
= =
E
=
o " o
= O
[2] MS Torx Screws Horizontal Blanking Panel D-Shaped Rubber Seal
Flap Seal (use T25 Torx bit) (align with equipment rails) Flap Seal

Top Blanking Panel (Integral Cabinet Top Cable Routing System - ONLY)
* Adjust width of Top Blanking Panel
* Apply Adhesive Seal to top edge
of Top Blanking Panel (cut to
length)
* Loosen [3] screws on front face
of Horizontal Blanking Panel
* Position keyholes of Top Blank-
ing Panel over [3] screws, and
slide panel downward

g AdIil&b&Elaai%Jmmg@nce Top

Blankipg Panel is in place

Top Blanking Panel

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 4 of 7



© Panduit Corp. 2016 INSTALLATION INSTRUCTIONS V00029PH

Vertical Blanking Panels (Side Seals)

» Attach 3/8” Bulb Seals to vertical edges of Blanking Panels by sliding Seal channel over Blanking Panel
flange. - Trim Seal length if necessary

[2] Bulb Seals < .

0@190ﬂzl;ﬂﬂ00ﬁﬁ[/’[/’ﬂ[/’00L7ﬂﬂﬂﬂﬂﬁﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬁﬂﬂﬂﬂ@ \

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 5 of 7



© Panduit Corp. 2016 INSTALLATION INSTRUCTIONS V00029PH

Vertical Blanking Panels (Floor Seals)

* Align front face of Horizontal Blanking Panel with Equipment Rails and install to the lower front to back beams

using [2] M5 Torx screws.
» Install [2] Bottom Seal Brackets (Left Bracket is noted by diamond cutout) using [2] M5 Torx Screws
* Attach D-shaped Rubber Seal to Horizontal Blanking Panel.

« Attach 25mm x 50mm Foam Seals to bottoms of Horizontal Blanking Panel and [2] Bottom Seal Brackets

» Attach 13mm x 25mm Foam Seals to outer edge of [2] Bottom Seal Brackets.

[2] M5 Torx Screws
(use T25 Torx bit)

D-Shaped Rubber Seal

Horizontal Blanking Panel
(align with equipment rails)

Jo 0
O
ofi° U
g [2] M5 Torx Screws
Jo ~ (use T25 Torx bit)
S
] o a 1
e o | RIGHT Bottom
d j Seal Bracket
U a E (note diamond
Y ! cutout)
Mo ¥ ="
H < 1
g _ 1
0 Iu ° - e e . : @
g 1 ~ !

13mm x 25mm
Foam seal

13mm x 25mm
Foam seal

LEFT Bottom |
Seal Bracket

25mm x 50mm Foam Seals

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 6 of 7




© Panduit Corp. 2016

INSTALLATION INSTRUCTIONS V00029PH

Cabinet to Cabinet Seal

Align Between Cabinet Bracket so the front face overlaps the front face of the Blanking panels.

While holding Between Cabinet Bracket, attach Seal Cover to the Between Cabinet Bracket using M5 Torx
Screw.

Attach 25mm x 50mm Foam Seal to the bottom of the Seal Cover.

Area to be Sealed Cabinet Top Caps
: ] T N —— g
f “ % é é" 1 9 B "/__/' -\.'\__\
) fl ] | . -
H i e e .
‘ p é gl ) L N
B = [en)||PP = S ==
e ’ 811l / \
Ll 8 L =] / \
1l B ; S 5 cilice / \
[ ;" 0 B
| 5| |7 / — )
& =] |
o[z |
NGy [ s \ l
| 0
0. e \ /
N \ /
§ - \ /
S =0 \ /
©, o2 \. /
Between Cabinet 2 . /
Bracket \‘\_ el
'\__\ /,/"

Seal Cover
M5 x 12mm Torx Screw

(use T25 Torx Bit)

25mm x S0mm Foam Seal

Vertical Blanking
Panel Seal

Top Cabinet to Cabinet Gap Sealing Installation
-Air Gap between top cap and Blanking Panels
should be sealed with Blanking Foam Seal

Step 2:

E-mail:

For Instructions in Local Languages .
Juag techsupport@panduit.com

and Technical Support:

PaNDuUIT

. Phone:
www.panduit.com

www.panduit.com/resources/install_maintain.asp 866-405-6654

Page 7 of 7 REV. 01




	Top Blanking Panel (Integral Cabinet Top Cable Routing System - ONLY)
	Vertical Blanking Panels (Top Seals)
	Horizontal Blanking Panels (Flap Seal and Screw Installation)
	Vertical Blanking Panels (Lower Panel Installation)
	Vertical Blanking Panels (Upper Panel Installation)
	Vertical Blanking Panels (Side Seals)
	Vertical Blanking Panels (Floor Seals)
	Cabinet to Cabinet Seal

